
Time: 10 Minutes Paper Math 6 (T-1) Total Marks: 10

1st Month, 1st Week, 3rd Day Unit # 1: Factors and Multiples

Q.No.1. Choose the correct options. (0.5x 6=3) ŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,XXXX
(i) Which of the following are the prime factors of 15?

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐÃÃÃÃyyyyÐÐÐÐGGGGgggg{{{{ÆÆÆÆGGGGŠŠŠŠ¬¬¬¬ŠŠŠŠ÷÷÷÷????

(a) 3×3×5 (b) 3×3×3 (c) 3×5 (d) 1×3×5×5

(ii)   2×3×3 are the prime factor of______. ÆÆÆÆGGGGŠŠŠŠ¬¬¬¬ŠŠŠŠ÷÷÷÷:::: ________2×3×3

(a) 81 (b) 27 (c) 21 (d) 18

(iii)  Which of the following is index notation of 5×5×5×3×3?

ÅÅÅÅZZZZ&&&&++++oooo´́́́####ÖÖÖÖìììì???? 5×5×5×3×3 ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐÃÃÃÃyyyyÏÏÏÏ
(a) 5

3
×3
3

(b) 5
2
×3
2

(c) 5
3
×3
2

(d) 5
2
×3
3

(iv) What is the index notation of 5×5×5×7×7×7?

ÅÅÅÅZZZZ&&&&++++ooooââââŸŸŸŸHHHHìììì???? 5×5×5×7×7×7

(a) 5
2
×7
2

(b) 5
2
×7
3

(c) 5
3
×7
2

(d) 5
3
×7
3

(v) What is the base of 2
7
? ÅÅÅÅääääHHHHìììì???? 2

7

(a) 7 (b) 27 (c) 2 (d) None Ãð7

(vi) Missing number in the given shape is: ŠŠŠŠ~~~~ˆ̂̂̂̂̂̂̂~~~~********¥¥¥¥xxxx°°°°ŠŠŠŠìììì::::

(a) 3 (b) 5 (c) 2 (d) 7

Q.2. Find the prime factorization of 36 by division method. (1×2=2)

ÅÅÅÅGGGGŠŠŠŠ‹‹‹‹~~~~¥¥¥¥xxxx™™™™,,,,XXXX 36 „„„„ÆÆÆÆ§§§§jjjjÐÐÐÐ

Q.3. Find the prime factorization of 30 by factor tree method. (1×2=2)

ÅÅÅÅGGGGŠŠŠŠ‹‹‹‹~~~~¥¥¥¥xxxx™™™™,,,,XXXX 30 1111RRRR,,,,~~~~ÆÆÆÆ§§§§jjjjÐÐÐÐ

Q.4. Find the prime factorization of 633 by factor tree method. (1×3=3)

ÅÅÅÅGGGGŠŠŠŠ‹‹‹‹~~~~¥¥¥¥xxxx™™™™,,,,XXXX 633 ÆÆÆÆ§§§§jjjjÐÐÐÐ 1111RRRR,,,,~~~~
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